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NoOTE: ATTEMPT FIVE QUESTIONS ONLY

Q1. a) Write a program to read students' marks, then find the numbers of marks ranged between (60-69), (70-79),
(80-89) and (90-100), using SELECT CASE statement.

The marks are: [50, 40, 9|0, 9|5, 87,70,76, 65, 63, 1(l10, 55, 30, 81, %3’ 88,72, 79, 66, 68 and 51].

Q1. b) Write a program to compute the following series: g
o 14+x 14x+x2 1+x+x*+x°
=i TR 30 + 2 = P e

(The program must be terminated when the last term is less than 0.001 using DO LOOP statement).

Q2. Write a program to input two dimensional array A(N, M), then re-arrange each row in ascending sort and save it
in new array B(N, M).

Q3. a) Write a program to find the value of (Y):

7 20
5 5 + (K2)!
= ZZK + (X!
K=1]=5

Q3. b) Write the output for the execution of the following program:

Rem Test Program

N=7

FORI=1to N

READ X

If INT(X/2) =(X/2) AND X MOD 3=0 THEN S5=5+X
NEXT

PRINT "S=";S

DATA1,3,4,6,8,9,12

Q4. a) Write a program to input the array A (N), multiply each odd number by 3 and each even number by 2, and
then print out the final array.

04, h) Write a program to calculate the following:

P1=x1*x2 *x3 * x4 * x5

P2=x6 * x7 * x8 * x9 * x10

P10=x46 * x47 * x48 * x49 * x50
Where: x1=1, x2=2, ........, X50=50.
NOTE: P is not an array.
Q5.a) Write a program to generate the following array without using any input statement.
2 3 4 5 ;
6 9 12 15
10 15 20 25
14 21 28 35
18 27 36 45
Q5. b) Write a program to read the array A (15), remove all zeros from the array A (15) and print out the new array.
Q8. a) Write a program to generate the array A (10), where each element of this array is equal to factorial of its position.
Example: A (4) =4¥3%2%1, A (8) =8*7*6 ... *3*2*1.
Q6. b) Write the output for the execution of the following program:

WO N W

READ AS, BS

D = LEN (AS)

DATA AHMED, ALl -SAAD
FORI=1TODG

IF MID$(BS,# 1) =" " THEN
CS$ = LEFT$(BS, I-1)

FS$ = RIGHTS(AS, 1)

D$= LEFTS(BS, 1)

END IF

NEXT

AS = F$+D$ +CS

PRINT AS




5 |
2o12/2018 W DL Jiop AL D ans ) dudt P
P)-a) YA
ior v=\ to 20
feas| x

seleck cage X
cafe 940 }o|oo
K= Kk |

Case 8o4= 39
M=M+)

Care. 72 += 39
S=5S+]|

Case Go Yo €9
M=+

Ewsd Selech

S ada 90 9 W0 Q0 ~~~--
prwd K,™M,S, N’
e

SRt
put 2
K= ;+x:S=l'$I=| ﬁlf‘-'f:N:Z

Do

F=1

for =1 = N
FeFw)
nend
C=K/F

g= 9 renC g;%%i_
S=-5S

SEYSER
I= T4

e kA At

e 109 e




L

fw?“i' Ny M
Dim A CNM) 5, BCMM)
fori=1 o

fr e 1 e T

wpd BT

@SR = St i)
Ve & nanct

fw =\ o I\

ﬁw j= | e ™)

f-af K=+ b o DA

R ) = ACH ) Pan sw0wp BOLY) BT K)
nwrd L Wkt et
for T=t o™

foe 3=V o ™

Pk BLY3) 5
ko @ W g ad

QM.




Qs

?w?vdr ¢

—>Tex K= 4o
| =)

Fex M=\ Yo Kx K
EC\:—- C&A—S'\
N~

s Jor §=5 e 2o
Fe=y

\\.\



‘%
. CPH-q) l} |

'\'v;.?\zr N
Dwv O (N)

gvy f:‘-\'\ON

Yok AQ)

emd™
ﬁw =1 fe N
W ARz = Wt (ach)/e) ey
*(f) = wC(DHxL
elge

a()=dCT)%3

For =g 1y
prand §¢H
.

exd
Qu.b)

fore 1=1 %o 1o
X=X+ )
g=

ﬁw-j:\' Yo 5
P=ffn 5



C\) S-q )

Bl A (Ss5) P& b)
o g - Dimm AGS), B BAS)
for -\ 1o g oy P=1 1o IS
ACHYy= (2xf—\)¥] - faspuck BHC)
s \
X & vundt Yund
R t=1 ke . e
v b S ey PER fe 1S
privk ATy L Ay o Wm0
WGPWTV\*E,W ‘L‘g' AG
4= et |
@E-R) ISPER ALY,
Dim AU°) o viurd”
for i) 4o 10 ) tor 2= o i
= I privd B (V)
" . VLQA«.T
i""f’-"’ bo I 7
F$ F .K.-)o @ é. L)
qco=F SARD ALY
forfe1 ko
Pn"U” A @)




